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These questions are for use in the Virginia High School League’s Scholastic Bowl competition at the District level. Shawn Pickrell, Jason Mueller, Marian Suter, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Release of these questions to any entity not affiliated with the District competition or the schools that are members of the given District, without prior approval of Shawn Pickrell, is prohibited. This is meant to keep question security.

(b)
The discussion or other reference to these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all District champions have been determined is prohibited. This is also meant to keep question security.

(c)
These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, 10 points each

1. 
For physicists, the initials Q.E.D. stand for Quantum Electro-Dynamics, a field pioneered by what man who won the Nobel Prize in 1965 for this work and who also wrote What Do You Care What Other People Think.

ANSWER: Richard Feynmann [FINE-man]

2.  
Famous residents of this city include musicians Philip Glass and Cab Calloway, athletes Dorothy Hamill and Carmelo Anthony and film director John Waters. It is located on the Patapsco River and its tourist attractions include the National Museum of Dentistry and Pimlico Race Course. What is this city, well known for its Inner Harbor and its Orioles?

ANSWER: Baltimore, Maryland

3.  
Taking place in 2005 on April 20, it originally marked the opening of the season for the namesake wildlife.  Since its takeover by the Wakefield Ruritan Club in 1949, it has become the annual kickoff event for Virginia's political season.  What is this event, known for mixing politics and bony fish cooked on wood?

ANSWER: The Shad Planking
4.  
This self-described 'conservative Democrat' endorsed Oklahoma Democrat Dan Boren in 2004, along with George W. Bush. After hearing his signature hit, Natalie Maines, the lead singer of the Dixie Chicks, described him as 'ignorant'. He had refused to record the song until Marine Corps Commandant James L. Jones told him it was his 'duty' to record the song. Who is this singer best known for 'Courtesy of the Red, White and Blue (The Angry American)'?

ANSWER: Toby Keith
5. 
In the sentence "He himself delivered the flowers," himself is what type of pronoun, one that adds emphasis to another noun or pronoun in the same sentence?

ANSWER: intensive pronoun (do not accept reflexive, that type of pronoun is separated from the word it refers to)

6.  
The oculomotor [awk-KYOO-loh-moh-tor], facial, olfactory, optic, and vagus are what type of nerves?

ANSWER:  cranial nerves

7. 
Today it is a noun meaning dash or verve. What is this word starting with P used originally by Edmond Rostand in Cyrano de Bergerac to refer to his "white plume"?

ANSWER: panache (puh-NOSH)

8.  
Like any good traitor, he was hanged, castrated, drawn and quartered and then beheaded, on August 23, 1305. His head was placed atop a pike on London Bridge, and his limbs placed, separately, in strategic Scottish locations. The battles of Stirling Bridge and Falkirk were part of the career of what legendary Scottish rebel whose story was told, somewhat inaccurately, in the movie _Braveheart_?

ANSWER: William Wallace
9.  
Herndon-based NTP, Inc. and Canadian technology firm Research In Motion agreed to a $450 million dollar settlement in June 2005 regarding NTP’s patent pertaining to what popular mobile device used for reading e-mail?

ANSWER: BlackBerry
10.  
THIS IS A COMPUTATION QUESTION.  In simplest terms, what is 3/5 plus 7/9 plus 2/3?

ANSWER:  2 and 2/45 or 92/45
11.  
Two of his early operas, The Fairies and The Ban on Love, are almost never performed today.  Non-operatic works of this composer include Five Songs for a Female Voice, one symphony written as a teenager, and the Siegfried Idyll, a chamber piece for his second wife.  Who was this German creator of the operas Tannhauser, Parsifal, and the Ring cycle?

ANSWER:  Richard (REE-card) Wagner (VAHG-nur)

12. 
This title character unknowingly killed his father and later answered the riddle of the Sphinx. As a reward for solving the riddle, he was made King of Thebes and offered the hand of the late king's widow. Name him.

ANSWER: Oedipus (ed-uh-pus) (accept Oedipus Rex or Oedipus Tyrannus)

13. 
While a switch merely connects individual computers in a single network, what type of computer network equipment is used to direct traffic between two or more networks? 

ANSWER: router
14.  
His name was devised by Howard Simons, the managing editor of the Washington Post in 1974. Several names were floated as being the 'secret identity,' and six people specifically asked Bob Woodward to issue denials on their behalf. In May, Mark Felt revealed himself as what anonymous source for most of the Washington Post stories about the unfolding Watergate scandal?

ANSWER: Deep Throat (accept Mark Felt before it is said)

15.  
It includes the phyla Mastigophora [mah-stih-goh-FOH-ruh] and Sporozoa [spoh-roh-ZOH-uh], the divisions Rhodophyta [roh-doh-FIGH-tuh] and Chlorophyta [KLOH-roh-FIGH-tuh] as well as the slime molds. Name this biological kingdom. 

ANSWER:  protist or protista
Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.  
What 1794 treaty, negotiated by the Chief Justice of the Supreme Court, attempted to deal with post-Revolution issues that still lingered between the US and Great Britain?

ANSWER: Jay's Treaty (accept Jay Treaty)

1B.  
What is the atomic number of nitrogen?

ANSWER:  7
2A. 
Name the author of The Rainbow, Sons and Lovers, and Lady Chatterley's Lover.

ANSWER: D(avid) H(erbert) Lawrence  (prompt on just Lawrence)

2B.  
What 1924 part-jazz composition by George Gershwin was featured both in the movie Fantasia 2000 and numerous commercials for United Airlines?

ANSWER:  Rhapsody in Blue
3A.  
The word renal refers to what organ?

ANSWER:  kidneys

3B.  
What Catholic priest's weekly radio broadcasts were listened to by a third of the country during the early 1930s, but later became discredited for his sympathy for Nazi Germany?

ANSWER: Father Charles Coughlin
4A.  
What French philosopher wrote The Social Contract?

ANSWER: Jean-Jacques [ZHON-ZHACK] Rousseau [ROO-soh]

4B.  
What term defines lines that do not intersect but are also not parallel?

ANSWER:  skew
5A.  
THIS IS A COMPUTATION QUESTION.  What are 11 times 5 times 7 times 6?

ANSWER:  2310
5B. 
Name the Irish poet and dramatist who wrote the comic masterpiece Lady Windermere’s Fan.

ANSWER: Oscar Wilde
6A.  
The largest tank battle in history was what World War II Eastern Front battle that was fought in July and August 1943?

ANSWER: Kursk
6B.  
What U.S. highway that roughly parallels Interstate 64 runs through the Virginia cities of Harrisonburg, Ruckersville and Richmond?

ANSWER: United States Highway 33 or Route 33
7A. 
Name the F. Scott Fitzgerald novel that was unfinished at his death.

ANSWER: The Last Tycoon
7B.  
What group, fronted by Jeff Lynne, released the singles 'Evil Woman,' 'Can't Get it Out of My Head' and 'Mr Blue Sky'?

ANSWER: Electric Light Orchestra or ELO
8A.  
THIS IS A COMPUTATION QUESTION.  How much money is 6 quarters, 9 dimes, 7 nickels, and 3 pennies?

ANSWER:  $2.78
8B.  
6.02 times 10 to the 23rd is the approximate value of what constant?

ANSWER:  Avogadro's number

9A.  
What zone exists at a location where one tectonic plate meets another, with the first plate going under the second plate into the mantle?

ANSWER: subduction zone

9B.  
THIS IS A COMPUTATION QUESTION.  What is the surface area of a sphere with a radius of 6 inches?

ANSWER:  144 pi square inches
10A.  
What former Lieutenant Governor and Governor of Virginia is now serving as Mayor of Richmond?

ANSWER: L. Douglas Wilder
10B. 
It means to cover with water, especially floodwaters, or to overwhelm with, as with work. What is this word that comes from the Latin unda, meaning, "wave"?

ANSWER: inundate
Third period, 15 toss-ups, 10 points each
1. 
The captain of the ship is set adrift by three crewmen in an open boat in what novel written by Nordhoff and Hall whose characters include Fletcher Christian and William Bligh?

ANSWER: Mutiny on the Bounty
2.  
In 2001, he broke 75-year-old records set by Babe Ruth for bases on balls and slugging percentage, winning the first of his four consecutive National League MVP awards. A fifth, however, is unlikely, as he has been battling knee injuries all season. Who is this baseball player for the Giants that has come under some fire for his role in the BALCO drug scandal, something that threatens to overshadow his over 703 home runs? 

ANSWER: Barry Bonds
3.  
A force of 10,000 men advanced from Quebec with the intent of seizing the Hudson Valley and splitting the American colonies in two. After losing to the Americans at Freeman's Farm and Bemis Heights, the British commander, John Burgoyne, surrendered his entire army. What name is given to this 1777 American Revolution battle that prompted France to lend her military assistance to the Revolution?

ANSWER: Battle of Saratoga or Saratoga Campaign

4.  
Spanish usually changes an 'o' at the end of a word to 'a' to make it feminine. In French, what letter is usually *added* to the word to make it feminine?

ANSWER: e
5.  
From top to bottom, its three parts are the manubrium, body, and xiphoid process.  Seven pairs of ribs attach to it.  Name this bone more commonly known as the breastbone.

ANSWER: sternum
6.  
The most revolutionary concept in this book was the idea that both parties could benefit from an economic transaction. It attacks two central tenets of mercantilism: that protectionist tariffs benefit a nation and that large stores of gold bullion are necessary for economic success. The concept of the Invisible Hand is another idea in what economic classic by Adam Smith?

ANSWER: An Inquiry into the Nature and Causes of The Wealth of Nations
7.  
It was first developed by Charles Townes in 1951 and independently by Nikolai Basov and Alexander Prokhorov.  Name this laser-like device that uses microwaves.

ANSWER:  maser
8.  
New York City created the first of these to apply across an entire city in 1916. Houston, on the other hand, has no ordinance relating to this concept. If the density is too low, urban sprawl may result. What is this urban planning concept that attempts to designate certain areas for residential, commercial and industrial development? 

ANSWER: zoning ordinance

9. 
The protagonist of this Poe short story was very kind to his victim the whole week before the murder. In what Poe story is the narrator, who has an especially acute sense of hearing, obsessed with getting rid of the old man's "vulture eye"?

ANSWER: "The Tell-Tale Heart"
10.  
Like most Hindu deities, he has multiple names, such as Nataraja, the Lord of the Dance. His wife, Devi, also gets multiple names, such as Parvati and Kali. Who is this Hindu god regarded as the Destroyer aspect of the Hindu Trinity?

ANSWER: Shiva
11. 
It is a sentimentalized story of a spirited, unconventional orphan girl who finds a home with an elderly brother and sister. Name this children's classic written by Canadian writer Lucy Maud Mongtomery.

ANSWER: Anne of Green Gables
12.  
His name, in Aramaic, means 'Son of the father.' Despite the fact that he had committed murder during an insurrection, the multitude called for his release, and Pilate was forced to release him during Passover. Who is this man that the crowd in Jerusalem wanted released instead of Jesus? 

ANSWER: Barabbas
13.  
THIS IS A COMPUTATION QUESTION. What is the product of the quantity 4 plus 3i and the quantity 5 minus 4i?

ANSWER:  32 - i
14.  
After the Winter of Discontent, the government of James Callaghan collapsed, ushering in this politician. A 1981 recession, a 1982 war against Argentina and a 1984 assassination attempt by the IRA could not stop this politician, but a 1990 Conservative Party challenge did. What woman, nicknamed the 'Iron Lady', was the United Kingdom's Prime Minister between 1979 and 1990?

ANSWER: Margaret Thatcher
15.
This acid was once called 'oil of vitriol.' The 'pure' form is actually 98% concentrated, and it is 33.5% of battery acid. What is this acid with chemical formula H2SO4?

ANSWER:  sulfuric acid
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  
Someone seeking to reduce dietary cholesterol would consider this type of diet that has, by definition, zero cholesterol. It was coined in 1944 by two vegetarians who did not like that the term 'vegetarian' had come to include dairy products. What name is given to someone who will not eat dairy or egg products? 

ANSWER: Vegan
2.  
He had to overthrow his mother, Sophia, in 1689 to assume real control. An invalid brother, Ivan V, ruled along with him until 1696. He expanded Russian power through defeating Sweden in the Great Northern War and built a new capital in some territory he had captured from Sweden. Who was this czar of Russia who ruled from 1682 to 1725? 

ANSWER: Peter the Great or Peter I
3.  
THIS IS A COMPUTATION QUESTION and TWO ANSWERS ARE REQUIRED. John has $100. Sweaters are $50 each. However, sweaters are 20% off. Answer both how many sweaters John can buy and how much money John will have left.

ANSWER:  two sweaters and $20 left (each sweater is $40)

4.  
Joshua Reynolds gave this painting its common name, as by the time he had seen it, it had grown dim and was covered with a black varnish.  A cleaning in the twentieth century showed that this was actually a daytime scene, despite the name.  What is this 1642 work by Rembrandt depicting the musketeers of a company led by Francis Banning Cocq?

ANSWER:  The Night Watch
5. 
You know Anna Sewell wrote Black Beauty but what author wrote The Black Stallion?

ANSWER:  Walter Farley
All questions ©2005 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

